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Use the question-specific markscheme together with the markbands. Award up to the 
maximum marks as indicated. 

1. (a) Explain why an increase in the demand for a good would normally lead to an increase in its
price, while an increase in the price of a good would normally lead to less of it being 
demanded. [10] 

Answers may include: 
• Terminology: demand.
• Explanation: that an increase in demand, caused by changes in any of the  non-price

determinants of demand, will shift the demand curve to the right (resulting in a shortage), and
leading to an increase in price; whereas an increase in price, caused by a leftward shift of the
supply curve, will cause a movement along the demand curve resulting in a decrease in the
quantity demanded.

• Diagram: demand and supply diagram(s) showing a shift of the demand curve to the right
and an increase in price; and/or a shift of the supply curve to the left, showing an increase in
price and a decrease in quantity demanded.

A maximum of [6] should be awarded if only one of the two aspects of the question is 
addressed. 

Assessment Criteria 

Part (a) 10 marks 

Marks Level descriptor 

0 • The work does not reach a standard described by the descriptors below.

1–2 • The response indicates little understanding of the specific demands of the question.
• Economic theory is stated but it is not relevant.
• Economic terms are stated but they are not relevant.

3–4 • The response indicates some understanding of the specific demands of the question.
• Relevant economic theory is described.
• Some relevant economic terms are included.

5–6 • The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

• Relevant economic theory is partly explained.
• Some relevant economic terms are used appropriately.
• Where appropriate, relevant diagram(s) are included.

7–8 • The specific demands of the question are understood and addressed.
• Relevant economic theory is explained.
• Relevant economic terms are used mostly appropriately.
• Where appropriate, relevant diagram(s) are included and explained.

9–10 • The specific demands of the question are understood and addressed.
• Relevant economic theory is fully explained.
• Relevant economic terms are used appropriately throughout the response.
• Where appropriate, relevant diagram(s) are included and fully explained.
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(b) Using real-world examples, evaluate the view that public goods should always be provided
by the government. [15] 

Answers may include: 
• Terminology: public good.
• Explanation: of the view in terms of why the government should provide public goods, ie the

advantages of government provision, such as overcoming the problem of the market not
allocating resources to the production of public goods due to the features of non-excludability
and non-rivalry; the free rider problem; the positive externalities associated with public
goods; the possible impact of extra government spending on AD and or LRAS.

• Diagram: a diagram is not expected.
• Synthesis (evaluate): a challenge to the view in terms of the possible reasons why the

government should not always provide public goods, such as the additional government
spending involved and the problem of opportunity cost; the problem of deciding which public
goods should be provided and in what quantities; the difficulty of estimating future benefits;
the possible benefits to be achieved by contracting out to the private sector.

• Examples: real-world examples of public goods being provided, or not being   provided, by
the government.

N.B. It should be noted that definitions, theory and examples that have already been given 
in part (a), and then referred to in part (b), should be rewarded. 

Examiners should be aware that candidates may take a different approach which, if 
appropriate, should be rewarded. 
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Assessment Criteria 

Part (b) 15 marks 

Marks Level descriptor 

0 • The work does not reach a standard described by the descriptors below.
1–3 • The response indicates little understanding of the specific demands of the question.

• Economic theory is stated but it is not relevant.
• Economic terms are stated but they are not relevant.
• The response contains no evidence of synthesis or evaluation.
• A real-world example(s) is identified but it is irrelevant.

4–6 • The response indicates some understanding of the specific demands of the question.
• Relevant economic theory is described.
• Some relevant economic terms are included.
• The response contains evidence of superficial synthesis or evaluation.
• A relevant real-world example(s) is identified.

7–9 • The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

• Relevant economic theory is partly explained.
• Some relevant economic terms are used appropriately.
• Where appropriate, relevant diagram(s) are included.
• The response contains evidence of appropriate synthesis or evaluation but lacks balance.
• A relevant real-world example(s) is identified and partly developed in the context of

the question.
10–12 • The specific demands of the question are understood and addressed.

• Relevant economic theory is explained.
• Relevant economic terms are used mostly appropriately.
• Where appropriate, relevant diagram(s) are included and explained.
• The response contains evidence of appropriate synthesis or evaluation that is

mostly balanced.
• A relevant real-world example(s) is identified and developed in the context of the question.

13–15 • The specific demands of the question are understood and addressed.
• Relevant economic theory is fully explained.
• Relevant economic terms are used appropriately throughout the response.
• Where appropriate, relevant diagram(s) are included and fully explained.
• The response contains evidence of effective and balanced synthesis or evaluation.
• A relevant real-world example(s) is identified and fully developed to support the argument.
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2. (a) Explain the difference between the causes of short-term economic growth and long-term
economic growth.  [10] 

Answers may include: 
• Terminology: economic growth, short-term economic growth, long-term economic growth.
• Explanation: that short-term growth is actual growth resulting from increases in AD and/or

SRAS; and that long-term growth results from an increase in production possibilities arising
from increases in the quantity and/or improvements in the quality of the factors of production.

• Diagram: use of a PPC and/or AD/AS diagram to illustrate the causes of the two types of
economic growth.

A maximum of [6] should be awarded if only one of the two aspects of the question is addressed. 

Assessment Criteria 

Part (a) 10 marks 

Marks Level descriptor 

0 • The work does not reach a standard described by the descriptors below.

1–2 • The response indicates little understanding of the specific demands of the question.
• Economic theory is stated but it is not relevant.
• Economic terms are stated but they are not relevant.

3–4 • The response indicates some understanding of the specific demands of the question.
• Relevant economic theory is described.
• Some relevant economic terms are included.

5–6 • The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

• Relevant economic theory is partly explained.
• Some relevant economic terms are used appropriately.
• Where appropriate, relevant diagram(s) are included.

7–8 • The specific demands of the question are understood and addressed.
• Relevant economic theory is explained.
• Relevant economic terms are used mostly appropriately.
• Where appropriate, relevant diagram(s) are included and explained.

9–10 • The specific demands of the question are understood and addressed.
• Relevant economic theory is fully explained.
• Relevant economic terms are used appropriately throughout the response.
• Where appropriate, relevant diagram(s) are included and fully explained.



– 7 – 8824 – 5108M 

(b) Using real-world examples, discuss whether high economic growth will always conflict with
the other macroeconomic objectives.   [15]

Answers may include:
• Terminology: economic growth, macroeconomic objectives.
• Explanation: that higher economic growth may or may not involve conflicts; potential conflicts

include: low inflation, environmental sustainability and/or equity in income distribution.
Economic growth may not always involve conflict if an outward shift of the LRAS curve
lowers the rate of inflation, it results in growth that protects the environment, the growth is
accompanied by measures to ensure a more equal distribution of income, and/or the growth
results in increased employment.

• Diagram: any relevant diagram, such as an AD/AS diagram to show AD shifting to the right
and/or LRAS shifting to the right or a Lorenz curve diagram.

• Synthesis (discuss): if the candidate starts the answer with a discussion of the possible
conflicts, a counter-balancing discussion of the reasons why there might not be any conflicts
can count as evaluation (discussion) or vice versa

• Examples: real-world examples where a higher rate of economic growth either has or has not
conflicted with other macroeconomic objectives.

N.B. It should be noted that definitions, theory and examples that have already been given 
in part (a), and then referred to in part (b), should be rewarded. 

Examiners should be aware that candidates may take a different approach which, if 
appropriate, should be rewarded. 
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Assessment Criteria 

Part (b) 15 marks 

Marks Level descriptor 

0 • The work does not reach a standard described by the descriptors below.
1–3 • The response indicates little understanding of the specific demands of the question.

• Economic theory is stated but it is not relevant.
• Economic terms are stated but they are not relevant.
• The response contains no evidence of synthesis or evaluation.
• A real-world example(s) is identified but it is irrelevant.

4–6 • The response indicates some understanding of the specific demands of the question.
• Relevant economic theory is described.
• Some relevant economic terms are included.
• The response contains evidence of superficial synthesis or evaluation.
• A relevant real-world example(s) is identified.

7–9 • The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

• Relevant economic theory is partly explained.
• Some relevant economic terms are used appropriately.
• Where appropriate, relevant diagram(s) are included.
• The response contains evidence of appropriate synthesis or evaluation but lacks balance.
• A relevant real-world example(s) is identified and partly developed in the context of

the question.
10–12 • The specific demands of the question are understood and addressed.

• Relevant economic theory is explained.
• Relevant economic terms are used mostly appropriately.
• Where appropriate, relevant diagram(s) are included and explained.
• The response contains evidence of appropriate synthesis or evaluation that is

mostly balanced.
• A relevant real-world example(s) is identified and developed in the context of the question.

13–15 • The specific demands of the question are understood and addressed.
• Relevant economic theory is fully explained.
• Relevant economic terms are used appropriately throughout the response.
• Where appropriate, relevant diagram(s) are included and fully explained.
• The response contains evidence of effective and balanced synthesis or evaluation.
• A relevant real-world example(s) is identified and fully developed to support the argument.
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3. (a) Explain how foreign aid can help to promote economic development in economically least
developed countries (ELDCs). [10] 

Answers may include: 
• Terminology: foreign aid, economic development, economically least developed country.
• Explanation: that foreign aid may promote economic development by breaking the poverty

cycle, by bridging the savings and foreign exchange gaps, by promoting economic growth
that leads to economic development, by lessening income inequality, by providing resources
for health, education and infrastructure and by helping to achieve the sustainable
development goals (SDGs).

• Diagram: any relevant diagram such as an AD/AS, poverty cycle or Lorenz curve diagram.

Assessment Criteria 

Part (a) 10 marks 

Marks Level descriptor 

0 • The work does not reach a standard described by the descriptors below.

1–2 • The response indicates little understanding of the specific demands of the question.
• Economic theory is stated but it is not relevant.
• Economic terms are stated but they are not relevant.

3–4 • The response indicates some understanding of the specific demands of the question.
• Relevant economic theory is described.
• Some relevant economic terms are included.

5–6 • The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

• Relevant economic theory is partly explained.
• Some relevant economic terms are used appropriately.
• Where appropriate, relevant diagram(s) are included.

7–8 • The specific demands of the question are understood and addressed.
• Relevant economic theory is explained.
• Relevant economic terms are used mostly appropriately.
• Where appropriate, relevant diagram(s) are included and explained.

9–10 • The specific demands of the question are understood and addressed.
• Relevant economic theory is fully explained.
• Relevant economic terms are used appropriately throughout the response.
• Where appropriate, relevant diagram(s) are included and fully explained.
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(b) Using real-world examples, discuss the view that rising income inequality is the most
important economic barrier to economic growth and economic development. [15] 

Answers may include:
• Terminology: income inequality, economic growth, economic development.
• Explanation: of the view in terms of the impact of rising income inequality on political

instability and political control by the rich and powerful, low levels of consumption of the poor
and thus AD, high levels of savings by the rich, low levels of investment by lower income
groups in human capital, intergenerational inequality of opportunity.

• Diagram: any relevant diagram such as an AD/AS, PPC, poverty cycle or Lorenz curve
diagram.

• Synthesis (discuss): a challenge to the view in terms of the circumstances in which greater
inequality may promote growth and development, e.g. through the impact of greater saving
by the rich and trickle-down theory; the importance of other economic barriers such as lack of
access to infrastructure and technology; low levels of human capital; dependence on primary
sector production, lack of access to international markets; the informal economy; capital
flight; indebtedness; geography; climate and disease.

• Examples: real-world examples of countries in which rising income inequality is or is not the
most important barrier to growth and development.

A maximum of [9] should be awarded if only growth or development is considered. 

As the question requires a discussion of `most important’, a maximum of [12] should be 
awarded where no other barriers are considered, as the question would not be fully addressed. 
For [13] or more, the synthesis and discussion must be effective and balanced and there must 
be at least some mention of alternative barriers. 

N.B. It should be noted that definitions, theory and examples that have already been given 
in part (a), and then referred to in part (b), should be rewarded. 

Examiners should be aware that candidates may take a different approach which, if 
appropriate, should be rewarded. 
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Assessment Criteria 

Part (b) 15 marks 

Marks Level descriptor 

0 • The work does not reach a standard described by the descriptors below.
1–3 • The response indicates little understanding of the specific demands of the question.

• Economic theory is stated but it is not relevant.
• Economic terms are stated but they are not relevant.
• The response contains no evidence of synthesis or evaluation.
• A real-world example(s) is identified but it is irrelevant.

4–6 • The response indicates some understanding of the specific demands of the question.
• Relevant economic theory is described.
• Some relevant economic terms are included.
• The response contains evidence of superficial synthesis or evaluation.
• A relevant real-world example(s) is identified.

7–9 • The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

• Relevant economic theory is partly explained.
• Some relevant economic terms are used appropriately.
• Where appropriate, relevant diagram(s) are included.
• The response contains evidence of appropriate synthesis or evaluation but lacks balance.
• A relevant real-world example(s) is identified and partly developed in the context of

the question.
10–12 • The specific demands of the question are understood and addressed.

• Relevant economic theory is explained.
• Relevant economic terms are used mostly appropriately.
• Where appropriate, relevant diagram(s) are included and explained.
• The response contains evidence of appropriate synthesis or evaluation that is

mostly balanced.
• A relevant real-world example(s) is identified and developed in the context of the question.

13–15 • The specific demands of the question are understood and addressed.
• Relevant economic theory is fully explained.
• Relevant economic terms are used appropriately throughout the response.
• Where appropriate, relevant diagram(s) are included and fully explained.
• The response contains evidence of effective and balanced synthesis or evaluation.
• A relevant real-world example(s) is identified and fully developed to support the argument.




